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Paper : GE-4.1
( Indian Economy—II )
1. e farmR fotk wpi Bee fn 1x8=8

Answer as directed of the following :

(@) IR BT @R €O PR AW B

Name one index used for measuring
agricultural diversification.

(b) S-S &2
What is EXIM policy?
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(c) TR @I FR Req By 9

Which one of the following is a source of
agricultural finance?

(i) SIDBI
(i) NABARD
(i) IDBI
(iv) T Gbrs T
None of the above
(o7 ToTCh 1 Borear )
( Choose the correct answer )
(d) TR iz 2
What is the meaning of Ceiling Act?
(e) RREcms I & g@ne

What is the meaning of disinvestment?

() MSME 3 3/ Foch! ot |
Write the full form of MSME.

(g) CRRSI qo1 B foran

Write one example of service sector.

() oiw Reed Gies wfds Rwwd g

(NN SR @)

Green Revolution s associated
with

( Fill in the blank )
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(c) S @ FR Rey T2

Which one of the following is a source of
agricultural finance?

(i SIDBI
(i) NABARD
(iii) IDBI

(iv) ST qbIe T
None of the above

(% TeT0h1 M e )

( Choose the correct answer )

(d) PR wixa 2
What is the meaning of Ceiling Act?

(e) TRIAcna forest R g2
What is the meaning of disinvestment?

() MSME T 57 Fioie67 foray |
Write the full form of MSME.

(g) ORI b1 SHrae fory |

Write one example of service sector.,

(h) % Res Cies wfvs R g |

(¥R S @)

Green Revolution is  associated
with ___ .

( Fill in the blank )
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9/ Or

(b) EXIM Policyd ¥rirmz & 7 ome
W WM 3 IR mR R\LbE
kel ic i Eol 3+9=12
What are the objectives of EXIM Policy?

Discuss briefly the thrust areas as
identified by the Government of India

for intensifying exports.

4. (a) me@f‘mﬁm@x‘gﬁ-wmﬁ

GFR I A PR oy SFEZ
R 8+3=11

Explain the importance of land reform
measures in the development of rural
economy of India. What are the main
obstacles to land reform?

Y%[T/ Or
(b) m%wﬁaaﬁs?mmw@%@mﬁw
ASITR M 7 | 3+8=11

What is Green Revolution? What are the
impacts of Green Revolution on Indian
economy?

5. (a) w&mwmmmmﬁ
FEAPER IO 01 A 1T Srazmure
@ S M Soaie Sre e
7 R ? 6+5=11
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Explain the main factors responsible for
slow pace of industrialization in India.
How has the industrial policy taken
during the economic reforms helped in
industrial development?

5231/ Or
(b) SRee TEEdl ¥ed dfvme g fARfcR
AR T 40| 11

Explain the impact of disinvestment in
public sector undertakings in India.

6. (a) CRRe IFra & T2 g (R ST
T GRS S I 90 3+8=11

What is service sector? Discuss the
contribution of service sector in the
economic development of a country.

%1/ Or

(b) 553 T Al SREA CRINEA 5 oF I
SPoicé I 0 11

Explain about the composition and
growth of service sector in India since
1991.
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7. (a) ORI IREWS AT Rt TR SOOI
WA M1 WE TR W A
PR e 0| 7+4=11
Discuss the problems of agricultural

marketing in India. Mention some
remedial measures for its improvement.

Sq1/ Or -

(b) ﬁwWw&WWWWI
TSRO SRR e WR Qe W

e AR R w11 4+7=11
Mention the objectives of the World

Trade Organization. Analyze its positive
and negative effects on Indian economy.
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Paper : GE-4.2
[ Economic History of India (1857-1947) ]

1. oo fapRe Tes fi 1x8=8
Answer the following :
(@ Svao TS SHe TRES FEU SEH
- R T R 2

Name the economist who studied the
problem of poverty in India during
1870.

(b) Rt 71 oS T B PR FREE-ANA
BrE 90

Mention one land tenure system
introduced by the British.

(c) @ TS T [ S (2R ?

In which year did the Bengal famine
start?

(d s500 B g $f Rt sz o 2

What is the aim of Punjab Land
Alienation Act introduced in 1900?

(e) A ST T fRowet T & A ?

Who is known as the father of Indian
Economics? )
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() S5 SRR TRSNCS SRCS G TN T4 T
R4 = B 10 |

Write one of the major export items of
India at the beginning of 19th Century.

(g) S®%0 TS W (XA A @FHY AT M
T R

Name the first central organization of
labour formed in 1920.

(h) PRI WO ERPTTS SRS RADE
TR IR wiSwe! (e 2

In which population census, India

had experienced negative population
growth?

2. o) R @O SRR eowe vy Grn B (AR
seo W1 fSege) : 4x4=16

Write short notes on any four of the following
(within 150 words each) :

(a) TR ILARE qEeN

The economic ideas of Gandhi

(b) TROR *H PR FRore sy

Occupational structure in the pre-
Independence era
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©) B e 3R AFENTR FRPAR
Causes of commercialization of
agriculture during the British period
(d) TETRIER STANFAT o
Nature of industrialization in the
interwar period
fe) (T T ORI
Effects of railway develbpment

3. (a) Rt *Frere sRee TiART ARG ¢
SRR 4 | 6

Give an overview of economic transition
in India during the British rule.

%e]r/ Or

(p) fftr PrFES SRS AT SRR
PRCIAN I 991 |

Explain the causes of economic
backwardness of Indian economy
during the British rule.

4. (o) FAOR oHq SR SR AR T
*q1 10
Explain the demographic transition of
India in the pre-Independence era.
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[T/ Or

(b) Stea TN °|'§T7538"‘t SoI(e Sqeq B SE
QTS I M ey Gbr qrae iy |

Give an idea about the trend and

composition of national income of India
from 1857 to 1947,

5. (a) FATOR 4 TRR® ©MOR FRT fuc
ST WY 90 10

Explain briefly about the Indian
agriculture during the pre-
Independence period.

<1/ Or

(b) FRTOR 49 ST 21 YosgoR FRe o
AR T 90|
Explain the causes and consequences of

rural indebtedness in India before
Independence.

6. (a) TARYT PR TS SRSy SrahT RerE
TRE 0 15

Explain the state of industrial
development in mid-nineteenth century
of India.
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¥%q1/ Or

b rre SRS SEed e TP
SrHIfF SEPEeR FRT A 9 |

Explain the causes of industrial
backwardness of India’s major
industries under the British rule.

7. (@) TATOR FI SIS SR IEH YW

ol o 3 T F90 15
Explain the nature and growth of public
debt in India during the pre-
Independence era.
- o[/ Or

() Rt SqTS S oq] SAReF FASPEE 99,
SR S AR ST 4T | '
Discuss about the form, exten{ and
consequence of economic drain from
India under the British rule.

{ Turn Over )
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Paper : GE-4.3
( Public Finance )

1. o PR oM SpiR teg i 1x8=8

Answer as directed of the following :

(a)

(b)

(c)

(@)

22P/1298

CICILBT PPeTd gt i |
Define Pareto efficiency.
O (PCH! IS T 7
Which of the following is a public good?
(i) 7R
Bridge
(i) TfEore FoTH7
’ Private computer

(i) TR CzeTsy
Mobile handset

(iv) AT
iPod

(% Ta3ehr 7S Bforear )

( Choose the correct answer )

T& SR 0 R 2

What is free rider problem?

Y AR b1 Sz fiay |

Give an example of negative externality.
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(e) TR SHRfS & ?
What is a parallel economy?

() SGST oo Tl Fr |
Give the full form of SGST.

(g) TECeRE NS 2
What is fiscal policy?

(h) F9 AFS T 15K
What is real burden of tax?

2. wﬁ@mmﬁﬁﬁeﬂwwcﬁmﬁm (aifSTor
yoo W foeTe) : 4x4=16
Write short notes on any four of the following
(within 100 words each) :

(@) e 7S
Market failure
(b) ARFOR AFER

Types of externalities

(c) IS F
The Coase theorem
[d) I SRRE =

Excess burden of tax

(e) TCIRW o
Fiscal deficit
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3. (o) R R ol W oifiom 9 9 | 14

Explain the nature and scope of public
finance.

ST/ Or

(b) IR wRGH, R o sfimeae srimz
T 00

Describe the allocation, distribution and
stabilization functions of government.

4. (a) mmmﬁwmw
Al 14

Discuss the Lindahl’s theory of
equilibrium of puplic expenditure.
SN/ Or
b)) T TR ogemR e wghR

FNCSES Iy IRCORT |

Critically discuss the Samuelson’s
benefit theory of public expenditure.

5. (a) IW TORRIT GF wWeeT TS e
COCETRT PRI M 97 | 14

Discuss the factors affecting shifting
and incidence of taxation.
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seqr/ Or

(p) IV HAET NE FABIRIN  T-CTRT

6. (a)

()

22P—3500/1298

©gCeT A F90 |

Discuss the neo-classical theory of tax
incidence and shifting.

SO T4 ITFA CAMETAR 3441 30 |

Explain the features of Indian Tax
System.

§eqr/ Or

SRS IR YOO IR AT AR
ST b1 R orfCeToAT SR |

Give an analytical review of recent fiscal
reforms undertaken by the Government

of India.
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